



St. Louis County, Minnesota

Date of Report: 7/6/2025 4:55:02 PM

**General Details** 

 Parcel ID:
 400-0010-04670

 Document:
 Abstract - 687186

 Document Date:
 08/25/1992

**Legal Description Details** 

Plat Name: INDUSTRIAL

Section Township Range Lot Block

27 51 17

**Description:** SW1/4 of SW1/4 AND the W1/2 of SE1/4 of SW1/4

**Taxpayer Details** 

Taxpayer NameGUNDY GREGORY Jand Address:7641 ALBERT RDSAGINAW MN 55779

Owner Details

Owner Name GUNDY GREGORY J

Payable 2025 Tax Summary

2025 - Net Tax \$2,849.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$2,934.00

#### Current Tax Due (as of 7/5/2025)

Due May 15		Due October 15		Total Due	
2025 - 1st Half Tax	\$1,467.00	2025 - 2nd Half Tax	\$1,467.00	2025 - 1st Half Tax Due	\$1,599.03
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,467.00
2025 - 1st Half Penalty	\$132.03	2025 - 2nd Half Penalty	\$0.00	Delinquent Tax	\$17,650.53
2025 - 1st Half Due	\$1,599.03	2025 - 2nd Half Due	\$1,467.00	2025 - Total Due	\$20,716.56

#### Delinquent Taxes (as of 7/5/2025)

		-	•	•		
Tax Year		Net Tax	Penalty	Cst/Fees	Interest	Total Due
2024		\$2,644.00	\$330.50	\$85.00	\$138.80	\$3,198.30
2023		\$3,224.00	\$403.00	\$0.00	\$459.40	\$4,086.40
2022		\$3,774.00	\$471.75	\$0.00	\$962.35	\$5,208.10
2021		\$3,438.00	\$429.75	\$20.00	\$1,269.98	\$5,157.73
	Total:	\$13,080.00	\$1,635.00	\$105.00	\$2,830.53	\$17,650.53

**Parcel Details** 

**Property Address:** 4926 BEAR TRAP RD, SAGINAW MN

School District: 2142
Tax Increment District: Property/Homesteader: -





St. Louis County, Minnesota

Date of Report: 7/6/2025 4:55:02 PM

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	and the state of t										
204	0 - Non Homestead	\$62,100	\$149,800	\$211,900	\$0	\$0	-				
111	0 - Non Homestead	\$97,000	\$0	\$97,000	\$0	\$0	-				
	Total:	\$159,100	\$149,800	\$308,900	\$0	\$0	3089				

#### **Land Details**

Deeded Acres: 60.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

		Improve	ement 1 D	etails (HOUSE	<b>i</b> )		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.	
HOUSE	0	1,66	66	1,666	ECO Quality / 858 Ft <sup>2</sup>	RAM - RAMBL/RNCH	
Segment	Story	Width	Length	Area	Foundat	tion	
BAS	1	4	22	88	BASEME	ENT	
BAS	1	8	18	144	BASEME	ENT	
BAS	1	27	22	594	PIERS AND FO	OOTINGS	
BAS	1	28	30	840	BASEME	ENT	
DK	0	10	16	160	POST ON GI	ROUND	
DK	0	12	30	360	POST ON GROUND		
Bath Count	Bedroom Cou	ınt	Room C	ount	Fireplace Count	HVAC	
1.0 BATH	3 BEDROOM	IS	-		-	CENTRAL, WOOD	
		Improven	nent 2 De	tails (SLEEPE	R)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
SLEEPER	0	51:	2	704	-	-	
Seament	Story	Width	Length	Δrea	Foundat	ion	

In	provement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	SLEEPER	0	51:	2	704	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	16	16	256	POST ON GR	ROUND
	BAS	1.7	16	16	256	POST ON GR	ROUND

		Improven	nent 3 De	etails (DG 24X24	)	
mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
GARAGE	2006	57	6	576	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	24	24	576	POST ON GF	ROUND
	Segment	GARAGE 2006  Segment Story	mprovement Type Year Built Main Flor GARAGE 2006 570 Segment Story Width	mprovement Type Year Built Main Floor Ft <sup>2</sup> GARAGE 2006 576 Segment Story Width Length	mprovement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> GARAGE 2006 576 576 Segment Story Width Length Area	GARAGE 2006 576 576 -  Segment Story Width Length Area Foundate

Improvement 4 Details (ST 24X50)											
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc					
STORAGE BUILDING	0	1,20	00	1,200	-	-					
Segment	Story	Width	Length	Area	Foundat	ion					
BAS	0	24	50	1,200	POST ON GF	ROUND					
LT	0	8	24	192	POST ON GF	ROUND					
OPX	0	12	18	216	POST ON GF	ROUND					





St. Louis County, Minnesota

Date of Report: 7/6/2025 4:55:02 PM

		Impro	ovement 5 De	tails (TT)						
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup> Gro	ss Area Ft ²	Base	ment Finish	Style	Code & Desc.		
STORAGE BUILDIN	IG 0	19	2	192		-		-		
Segme	Segment Story		Length	Area		Founda	ation			
BAS	1	8	24	192		POST ON C	GROUND			
		Improver	ment 6 Details	s (ST 14X32)						
Improvement Type	e Year Built	Main Flo		ss Area Ft <sup>2</sup>	Base	ment Finish	Style	Code & Desc		
STORAGE BUILDIN	IG 0	44	8	448		-		-		
Segme	nt Story	Width	Length	Area		Founda	ation			
BAS	1	14	32	448		POST ON C	GROUND			
		Improver	ment 7 Details	s (ST 12X16)						
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> Gro	ss Area Ft <sup>2</sup>	Base	ment Finish	Style	Code & Desc		
STORAGE BUILDIN	IG 0	19	2	192		-		-		
Segme	nt Story	Width	Length	Area		Founda	ation			
BAS	1	12	16	POST ON C	GROUND					
		Sales Reported	to the St. Lo	uis County A	uditor					
Sal	le Date		Purchase Pric	e		CR	V Number			
02	2/1979	\$7,500 (TI	\$7,500 (This is part of a multi parcel sale.)				116322			
		A	ssessment Hi	story						
	Class					Def	Def			
Year	Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Tota EM\		Land EMV	Bldg EMV	Net Tax Capacity		
100.	204	\$62,100	\$145,100	\$207,2		\$0	\$0	-		
2024 Payable 2025	111	\$97,000	\$0	\$97,00		\$0	\$0	-		
20211 ayabib 2020	Total	\$159,100	\$145,100	\$304,2	00	\$0	\$0	3,042.00		
	204	\$53,500	\$132,100	\$185,6	00	\$0	\$0	-		
2023 Payable 2024	111	\$81,600	\$0	\$81,60		\$0	\$0	-		
2023 T dyddic 2024	Total	\$135,100	\$132,100	\$267,2	00	\$0	\$0	2,672.00		
	204	\$41,000	\$180,100	\$221,1		\$0	\$0	-		
	111	\$68,700	\$0	\$68,70		\$0	\$0	_		
2022 Payable 2023	207	\$1,600	\$13,400	\$15,0		\$0	\$0	-		
	Total	\$111,300	\$193,500	\$304,8	00	\$0	\$0	3,086.00		
	207	\$41,000	\$167,800	\$208,8	00	\$0	\$0	-		
2021 Payable 2022	111	\$70,200	\$0	\$70,20	00	\$0	\$0	-		
	Total	\$111,200	\$167,800	\$279,0	00	\$0	\$0	3,312.00		
		7	⊥ Гах Detail His	tory						
				,						
		Special	Total Tax & Special			Taxable Bui	lding			
Tax Year	Tax	Assessments	Assessment	s Taxable La	and MV	MV		otal Taxable M		
2024	\$2,559.00	\$85.00	\$2,644.00	\$135,1	00	\$132,10	0	\$267,200		
2023	\$3,139.00	\$85.00	\$3,224.00	\$111,3	300	\$193,50	0	\$304,800		
2022	\$3,689.00	\$85.00	\$3,774.00	\$111,2	200	\$167,80	0	\$279,000		





St. Louis County, Minnesota

Date of Report: 7/6/2025 4:55:02 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.